TR 184E

o 5 %2 mEFHAE| A4 AREE
(EER) | B2 AA
— R B
Xz | SUBECC) | KiE(C) | EEUKE [ ER =Xz EEd
48] Bh 23.2 19.8 == BE Zwyfa-h mR
68| ®Bh 25.0 18.5 == BE B -t mR
8A| mKEh 33.5 29.0 =B BE x18f - b me
108 =Y 27.3 25.4 == BE B - % me
128 BBh 16.9 15.8 == BE B -t mR
28| Bh 16.0 12.0 xE BE gt - o BER
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
=Z(E| 6.5~85 | 75LLE | 1.0LLF | 25LLF 50LLF
EHIE(75%1E) - 8.9 0.8(1.1) 1 250
48] 7.0 8.5 <0.5 4 -
6A| 16 8.9 0.7 i< 2
8A| 70 7.6 0.5 i< -
10A| 68 8.3 <0.5 4 500
128l 77 10 1.4 1 -
28 75 10 1.1 <1 —
BEIER
NP INESD E ANEvoL| #ME fioK 8 T ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
S| 0.01LLF | ERE | 001LLF | 0.058LF | 0.01LLTF | 0.0005LLF JEHRH
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8A - - - - - - -
10A]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
SOO0A i wme | 1L2-070[1,1-0500[ Y R-1,2-250][1,1,1-F) 500
PCB 5 Mg R nts | T Tl L
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s ERE [0.02LLF] 0.002LLTF | 0.004LLF | 0.02LLF | 0.04LLF 1LLF
EH{E - <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.01
4K - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
68 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8A - - - - - - -
10A - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
128 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1.1.2-ry4 [FYAD[FFS400I]1,3-09A = PN FARUAIIL
aazss | 3L | FLy  |pFacy| T7I7L| YOV J
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF |0.006 L F| 0.003LLF 0.02LLF
E{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10A]| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E (] 0.01LLF [0.01LLF| 10LLTF 0.8LLF 1LF
EH <0.001 <0.001 0.20 <0.1 <0.1
48] <0.001 <0.001 0.19 <0.1 <0.1
6A| <0.001 <0.001 0.15 <0.1 <0.1
8A - - - - -
10A] <0.001 <0.001 0.28 <0.1 <0.1
12A8] <0.001 <0.001 0.17 <0.1 <0.1
28 - - - - -
ZTDHhIFE
Nnnn| 2R | 2% @ | 2@@ | saofus |TPRTNT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.28 0.012 - 0.014 - -
4K - 0.31 0.013 - - - -
68 - 0.23 0.008 - - - -
8H - = - - 0.014 - -
108 - 0.30 0.016 - - - -
128 - 0.28 0.010 - - - -
28 - - - - - - -
1B WIEERTE | VB : - e = i s
Jx/—JL gy COD el > AE EREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E - - 1.4 <0.01 - - 54
4K - - 0.7 <0.01 - - 53
68 - - 1.2 <0.01 - - 55
8H - - 1.3 - - - 54
10A - - 1.7 - - - 47
128 - - 1.9 - - - 68
28 - - 1.8 - - - 48




RIS

o 5 JIBE4E | A4 AREE
(BER) | #® A
— g8 B
Xx |SUBRCC) | KiE(C) | EEUKE [ ER =Xz R
48] Bh 23.0 14.7 == BE e mR
68| ®Bh 25.0 19.0 == BE B -t mR
s8B|l ®Bh 33.0 29.1 =IE BE x|t mR
108 =Y 28.1 26.5 =RE BE B - % mR
128 BBh 18.9 13.5 == BE B -t mR
28| Bh 15.5 14.0 xE BE 2Ef-p B®R
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE (75%1E) - 9.1 0.6(0.7) < 1200
48] 638 8.4 <0.5 <1 -
64 1.4 9.8 0.7 <1 13
8A 6.7 8.0 0.5 <1 —
10A] 6.7 8.5 <0.5 4 2400
12A] 73 10 1.0 <1 -
2A] 68 10 0.6 < -
RBEIER
NS INESS P E ANEvoL| #ME $hok R T ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
S| 0.01LLF | ERE | 001LLF | 0.058LF | 0.01LLTF | 0.0005LLF JEHRH
EfE]  <0.002 <0.1 0.008 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8A - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.002 <0.1 0.021 <0.02 <0.001 <0.0005 -
28 - - <0.005 - - - -
soanAl ..o [1,2-090811-240n| P X-1,2-Y4a(1,1,1-M)H0nR
PCB 5 mig LR x4y | TFLY DTFLo h
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] ERE [0.02LLF] 0.002LLTF | 0.004LLF | 0.02LLTF | 0.04LLF 1LTF
EHiE - <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.01
48 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
6 A - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
8A - - - - - - -
104 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
128 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,12-~y4 [F)Y0A|F54980x)1,3-49A = s = ose FAR AL
nozsy | IFLY | FLy  |@Fasy| TOIL | YRV J
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF |0.006 L F| 0.003LLF 0.02LLF
E{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
4 B[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE{E] 001LLTF 10.01LLF 10LLF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.30 0.2 0.2
4H| <0.001 <0.001 0.30 0.2 <0.1
6H| <0.001 <0.001 0.20 0.2 0.3
8H - - - - -
10H] <0.001 <0.001 0.33 0.1 <0.1
12H] <0.001 <0.001 0.35 0.3 <0.1
2H - - - - -
EDHIEE
Ny 2EX | &% @ | 2@ | soofkus |TPRTNT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - 0.34 0.012 <0.04 0.008 - -
4R - 0.36 0.008 <0.04 - - -
6A| - 0.25 0.022 <0.04 - - -
sA| - - - - 0.008 - -
108 - 0.34 0.011 <0.04 - - -
128 - 0.39 0.008 <0.04 - - -
2H - - - - - - -
BiLH AR | B : o i (= S
IT/=| kS coD el > A EXEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
EH{E - - 0.9 <0.01 <0.01 - 66
4A - - 0.5 <0.01 <0.01 - 70
64 - - 0.9 <0.01 <0.01 - 69
8A - - 0.9 - - - 68
10H - - 1.3 - <0.01 - 57
12H - - 0.9 - <0.01 - 43
28 - — 0.9 — — — 90




